NETC- Math 111   Test #4   MCHS Site               3/23/2012
Answer all the following. Show your work. No credit is given just for answers.
1. Solve the triangle. Round lengths of the sides to the nearest tenth and angle measures to the nearest degree. 
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2. Use the Heron’s formula to find area of the triangle. Round to nearest square unit. Given a = 14 meters, b = 12 meters, c = 4 meters where a, b, c are the lengths of sides of the triangle.

3. Plot the point (3, -315[image: image3.png]


) in polar system with ‘O’ is the pole and OX is the polar axis.
4. Test for symmetry with respect to:
a) The polar axis

b) The line [image: image5.png]
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c) The pole
Polar equation is r = 4 + 3cos[image: image9.png]



5. Find the product of the complex numbers. Leave answer in polar form:
Z1 = 6(cos 20[image: image11.png]
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)

Z2 = 5(cos 50[image: image15.png]
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